








GewsuL 2 : s Riln-slellHi wHAL el i wiay ue wgsH 3 w4 324 Slu dl uaH e bl

JalldR-ARNML WA YRR 7 = 3 i Wiy ue 324 8. wdl T= 324 i HAHUE Hed 3 a
Albalg &

wdl T=324 9.

o art=324 (v T, =ar?)
a (3 =324 (o r=3)
a x 81= 324
a=32% _4

81 —
w, Aelld Ham ue 4 ©.

GewseL 3 : o Jeilv-slelHl naH ue A AlY ue wgsH 5w 40 €ld dl A dRiR alyl.
dpellar-Aslly HaH Ue a = 5 2 AY Ue 40 8. Ul T,= 40 il 20UQ AHIA YRR 7 Abci-dl 8.

dl T;=40 8.
oartl =40 (v T =ar?
5x1P=40 (v a=5)
=40 _
r=%5 =8
r=2

M, AL A dRlR 2 ©.

GersuL 4 ¢ s RlaR-slelly HaH ue il AHL YRITR AgsH 4 2l -2 6. oA ARl 7 Y ue -128 €y
din -l BHa aidl.

A ARNR-ARNHL HAH UE = 4, AL YR 7= -2 2in Jue — 128 2@ 3 T =- 128 8.

dl T =- 128
ar! = - 128 ¢+ T, =ar)
4 x (2! = -128 (ca=4¥ir=-2)

(2rt=2B -3

2y = 2y
ol eugell Bldl ARvlddl,
n-1=5

n==6
Geww 5 : A dyelva-Aellui Ay il Wy ue wgsd 3wl 2 <lu dl suy ue wlal.
92 & opelu-2elly HAH UE = @ A A YRIR = 7 8.

=3 =3 3
WA T, = 321 T,= 35 24 8.

6
= _p

ar

=ix

W™ 3

SN
G
WA

|
sl
00 | =t
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1 3 . .
8d r= > AT, =ar= 343,

1 _ 3
a(i) 4
1 _ 3
ax g =3
- 3
a—4x8
a=6

sd g e ue Waad © Adl, n = 10.
a, r ¥ n L BUdA T, = ar 13l ysdi,

T,=6 X (l

104
3

oy

B 1
=6X% 333

3
= 256

3

Wi, A80lq 10 3 ue >

Gewsw 6 : Jelv-slel 9, -6, 4, ... 7 5 3 ue sl

dla=9 A r=

a, r # n Al Budl T, = ar™! 4l 4sdl

T, =ox (3

i, el 54 ue 22

-

£9.

L =F 8. 55 uduugdNAIn=5
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—
—

GewsRm 7 : Jelr-Aell 1, T, 1, e 2USY e 2,

S

wdlg= L A r=

2 = 2. 28y ue duig Y ved 3 n =8

0O 1= |4 [ 1=

a, r @ n -l Budld T = ar*! il 3,

Il
—_
(=)

u, ARlld sy ue 16 9.
Gelsm 8 : A SIS s yelu-adlly ol ue 4 Slu dl uaH A2 uel-l JLusiR alul.
QI 3, UYL UE = g A AL YRITR = 7 B,
wdl ol ue 4 © ved 3 T=4.
8 n=1,n=22»t'\n=3'\Tn=af"1‘-Li=1gxd'l
T=a, T=ar Y] T,= ar WA .
2N, TxT,xT, =a x ar x ar
=a*xr
= (ar)®
= (4) (wT,=ar=4
= 64
U, Rllrl e ARl UELFL JYBUSIR 64 AU B,
GE1sR 9 : 25 Jell-Aellg HAH UE il HaAH AR UELL JYRUHIR YsH 321 216 O, dl Aelle 74 ue Al
Aelld uur ue 39 2ed 3 g=3.
8d n = 1,n=2=bt'\n=3'\Tn=ar'"1‘-L'l Ysdi T, = a, T2=aribt'\T3=ar2‘-U}LE\9.
UgY, ARL Yel-l QRUSIR 216 U4 €.
2ed ¥ T, x T, x T,=216 8.
ed, T x T, x T,=216
. aXxXarxar =216

a®xr =216
3B xr =216 (-a=3)
27 x P =216
_ 216 _
r= 77 =8
r=2

aefl Aelly wdy ue T, = ar’
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= T,=3 x (2
=3 x 64
=192
3, ARl Ay ue 192 8.
GewswL 10 : A vl 2, G 50 JelaR-ASlHl 8 dl G -l Bud Akl
T, =2, T,=G #1 T,=50 8.

N]

ALY IR = L_L
L T,

G
1

G_5
2

G? =100
G=+10

G =10 vydlL— 10

G 11 : A Al a, b, ¢, d w2 2=£=2 Qu dl q, b, ¢, d Yelu-Adlui B Ax e,

) 3 §=§=%= r, ol r s LA vAd D,
b=ar,c=br,d=cr
c=(@)r=ar¥\d=(@?r=ar
°3.T1=a,T2=b=ar, T,=c=ar, T,=d=ar
as¥a dl T, T, T,, T, ANd-AR04L 8. 24 g, b, ¢, d ARNd-AR(4L 8.
Geww 12 : Jeilvr-2Ell 0.008, 0.016, 0.032, ... 320y ue 4.096 & ?

wdl a = 0008 v r= 208 _5 3,
¢d, T =4.096

. art! = 4.096
0.008 x (2)*! = 4.096

4.096
0.008

21 = 512
Lol =28
ol 6y Eld AR,
n-1=9
n=10
i, el 103 ue 4.096 €.
Geww 13 : A Jel-sAellg N ue d slell-i uam ueHl ol glu i AlY ue 243 <l dl s il
WA 3 HAM UE = g A AR YRR = 7 8. Al AlY ug, uad uedl [ 8. A2A 3 T, = a?
T,=a’ =a
r=a

2n—1 =
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GuRid A1g ue 243 2124 3 T, = 243

o T, =ar’ =243
Pxr=243 (" P =a)
r =243
r=3

soor =3

8d, g =P

a=3%
a=9

a=9%1 r=34di, 9, 27, 81, 243... el 44 8.

Gewsw 14 : A5 AlE av 200941 sivsHi T 10,000 >+ sAd O, ay 20104 T 20,000 wHL sAd B
w1 qy 201140 7 40,000 L $Ad O, SIS s AUl FL sAAA U WAL QU ML sAAA WH
sl ol 8. dl ay 201440 alFaA Zedl 8 o sAdl ¢d ?

A5 s uad alui A2d ¥ v 200941 Z 10,000 %HL $AA V. . UAU UE (@) = 10,000 8. € a¥f

ol 3 H UG Y sl otRll & Al A ARl (1) = 2 8. U ay 201441 AL s3e W

bl © 224 7 = 6.

a, raln AT, = ar-l Y,
T, = 10000 (2)%*
= 10,000 (2)°
= 10,000 x 32
= 3,20,000
a1, ay 201441 L 53¢ $H T 3,20,000 8.

Belsm 15 : s 50,000 (G2 anciadl welll 208l welell yydl @l 9. (@3- S8l €2 vsalRd
welly 22 29UB sl w3y AT MU B, dl win visaulSui uel welly 2R 324 ¢ ? (g well 2iflui
GHg -ell.)

50,000 (@23l atcicuoll wigll{l 2isl wiellefl yaydl kA 8. . a = 50,000 = T, € 213 wielly

AR UG Sl Y A ML V. - AR ARNR (1) = ;— 2.

A5 w83l ussld wiefld R = 50,000 x ;— = 25,000 (@22 29, 20y uin xsal3ul usly, urelld

AR WHdld B 2ed n = 6.
a, r 27 orll Bdl T, = ar™'ail 3sdi,

T, = 50,000 (4
= 50,000 (%)5

= 1 _
= 50,000 x 75 = 1562.5

U, WA 283l ugdl wefld R 1562.5 [@2R 8.
Gers 16 : vls Al axdl 20 @t 8. A adl €2 a¥ 3 21 €3 audl glu dl 6 ax uel d adz-l azxdl

sedl ¢l ? -
. ’ . dxel 3 251l €2 af 9 agl
w8l erarl axdl 2000000 &. . a = 2000000 = T,. axdl €2 a¥ 10043
3 281l €3 Al 8. noor= ae =1.03
». r=103

284

s, Qe 11



s o4 uel wd-l axdl = 2000000 x 1.03 = 2060000 = T, 4. YA 6 A uedl-l arell -l &
Wed n=17.
a, r o nell Bodl T, = ar ™l 3,
T, = 20,00000 (1.03)™!
= 20,00000 (1.03)°
T, = 2388104.5930
1M, 6 a¥ ugfl ad+{l ardl 2w 23,88,105 4.
Gersat 17 : Hell-u sl € a¥ 15 % Avdl Ag R 158l 52 6. A Wl wdleBBud T 50,000
Slu, dl Ad ad el ul Bua 3edl »a ?
Uellrill wlleBBad T 50,000 8. . a = 50,000 = T,. ¥ell-i-dl 8w €2 a¥ 15 % .

r=0.85 HllArl Bodul a¥ 15 estl 92 8. - r=

As 4y yedlHl vall-l BHa = 50,000 x 0.85
= 42,500 = T, 4.
Ald Y ugdlll Hall-Al Bd el & »1ed n = 8.
a, r ¥ arll Budl T, = ar Al i,
T,= 50,000 (0.85)*"

= 50,000 (0.85)7

= 16028.8544

~ 16028.85
w1, Ald a¥ ugdll nall-dl Bud 7 16,028.85 L.

9.3 sdlil e (Meaning of Sequence)

A a, ar, ar?, ar?, .. A ARNR-ARl aS  a + ar + ar + ar + ... A ﬂ@ﬁﬂ% A4\ oirQl.
tld., 2 2, 6, 18, 54, ... JR0dR-2ell &l ol driiell eadl el Al 2 + 6 + 18 + 54 + ... U,
Rt~ HUH 72 UElHL ARAUUA A3 S oY ealduni wud 8. adl
S =T, +T,+T,+..+T,
oy T, =a',n=1273, ..
Wi, S, =T, S,=T, +T, S, =T +T,+T, PR,
o o4l YEL a A L 3udl suldlA o),
S =a+ar+ar+ .. +ar’ CURR
dpeiinr-glell-u Aeeiui A ealda Yol uudd wlidl aor sl ady

T . .
(1) F* = r = 4 YRR, 2l 7 - yals 8.
@T, =S,,-S %n=123,..
(3)S =naur=1

(4)sn=“g—_"1)l)mir¢1

T

2 —a .
(r—l) sULr#1

5)S, =
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Gewsw 18 : Jelvz-slell 5, 15, 45, ... U UAH UiA Yel-l Ul Wkl
15
5
NYH Yi YLl A WHAld 9. - 1= 5.

VM UUH UE g = 5 VA M YRR 7 = 2 = 3 B,

a, r ¥ nell Budia S,=% Hi Y,

5(3°-1)
S;= G-

5(243-1)
2

_5242)
=72

= 605
VUM, HYH U™ YELHL ARA 605 .
GewseL 19 : delv-slell 8, 4, 2, ... U UAH 6 UEl-l U WL,

Wl HUH UE g = 8 WA WHU JRITR 7 = & =

+ o= 2 3. uan 6 udld el e 3.
n==6.

g r oA pll BudA s = ZE5) i oy,

N

A, WA 6 el el £ B,

GerseL 20 ¢ s Jeilv-sAelly uan ue 3 2 Ari-A YRITR 2 €ld dl uUH AR el uaul ikl
L HAU YE @ = 3 Bl AL OLRITR 7 = 2 8. HYH AR el AR WAL 8, 2124 3 n =4,

a, r o nll BudA S = “g_"l)l) U Y,

. 286
VisHARA, Hl|L 11



3[2¢ -1l
4 (2-1

3(16-1)
1

=3x15
=45
UM, HYH AR YEIHL A 45 O,

Belg@ 21 : s eli-Aell FHL A ARITR 0.2 i UAH AQ YEL-L AU 0.496 ¢ dl UAH UE ALH).
2l WY YRR 7 = 0.2 2l HUH A2 UEl- AR 0.496 22d 3 S, = 0.496 .

a(r" -1

rafa ol BudR S, = S Ul s,
_ a[0.2°-1]
0.496= ~ 03T
a(0.008—1)
0.496= T (08
a(—0.992)
0.496 = ~(038)
0.496 % (—0.8)
a= " (0992
a= 04

M, HUH U 0.4 8.

Gewse 22 : elz-4iell 800,400,200, ... 3260 UG-l WA 1500 2 ?

400

Al uaH UE o = 800 2l AR YRR 7 = p

»2d 3 S = 1500

a(r"-1)
(r-1)

ad rl BudA S = RITELT

800[ 0.5)" 1]
- (05-1)

800[(0.5)" 1]

1500 = 0.5

1500 % (—0.5)
800

0.5 =1 - 0.9375
0.5y = 0.0625
0.5)" = (0.5)
ol 6l Eldnl URvilddl,
n=4
BUH, UYH AR YELHL ARAN 1500 ¥,

0.5 - 1=

= 0.5 8. UUH 7 UELHl AN 1500 6.
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Gers@t 23 : s RlaR-sellul uan ue 27 i uAU AA Yl AL 189 6. WHL YeiuR 2kl
il HYUH UE a = 27 il HYH 242 el A0 189 §. 2d 3 S, = 189

a(r"-1) _. .
) Hl H4dl,

BudA S, =

_ 2P -1
35 T o))

27 (r=1) (P2 +r+1)
(r-0

189 =27 (P +r+1)
P+r+1=17
rP+r-6=0
r+3c-2=0
Lor=-3vAdr=2
B, AL IYRITR — 3 AL 2 B,
GergeL 24 ¢ A Jeilv-slellui uan ue 16 2 UaH Ui UElHl Al 1 8. wHL JYRilR 2kl
dl HUH UE g = 1 20 W3 WA YEl-d ARclol 18 Hed 3 S, = 1.

189 =

BudA S = “g__l)l) i s,

)

SS_ (r-1
5
1=((rr—1§)
r-1=r-1
r=r
rr=1
r=+1

Aa=1adr=1&ddHAH WA YEL 1, 1, 1, 1, 1 A, ¥ AR 5 A1y U8l U0 Al
169, adl =1 usy Adl.

Aa=1vulr=-18dd UdH YA UEL 1, —1, 1, —1, 1 &, FD AN 1 A, adl r = -1 ¥Q.

B, A RN — 1 69,

Gewsw 25 : Jelur-Adll 2, 4, 8, 16......11 AU £ UElHL AN 5000 4 QY AN ddl £ -l Hedn Bud
Wl

Sl U UE @ = 2 A AU QAR 7= 2 =2, 1 YA AR 5000 Al aB AR,

2
224 3 S < 5000.

a¥Aras = “g__l)l) i Y,

22 1)
)

=2 (21
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ed, S < 5000 Sl
2 (2" - 1) < 5000
2" — 1 <2500
s 20 <2501
8d nll [y 4 yals Budl wR 2+l Budlg sives A Yool ot 249 ol ¥ 4 yals Bud we
2" < 2501 wy Adl a-ll Hequ Bud ady.

n 4 5 6 7 8 9 10 1 12

2" 16 32 64 128 256 512 1024 2048 4096

stes uell AS ASI 3 2 = 10 W2 27 = 1024, n= 11 Hi2 27 = 2048 © A 7 = 12 W2 27 = 4096 ¥
2501 5l ay €.
n=11d ndl Heau Bud © 3 -0 W2 2" < 2501 w.
n=11
Belsm 26 : delar-8lell 1, 3, 32, 3%, ...l WAH 72 UElHL AU 2iemi ikest 3000 A ddl -l agan
(Bua glal.

] YU YE @ = 1 A A YRR 7 = f— = 3. UUH 7 YEL-L ARG 9L 219l 3000 Slal

A H2d 3 S > 3000.

a¥Ar S ag__l)l) Ui ysdi,

13" 1)
S, =61

_3-
2
ed, S 23000 Sl

-1
= 2 3000

3" — 1 2 6000
o 3726001
¢d il QRY 4 yauls Budl w2 3~ Budd stes DA yoot ol 21 7l & 4 yals Bud
Hi2 3" > 6001 2 Adl nll agdy [Bud asy.
n 4 5 6 7 8 9

3 81 243 729 2187 6561 19683

sl yl A WL B 1 =8, 9,... W2 37 2 6001 V.
M, nedl d8di Bud 8 © L M2 3" > 6001 Sl

n=2_§
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Bers@ 27 : s JRlv-ell W2 S, = 10S, €lu dl 7 WMl
2], S, = 108,

a(r®-1) a(r*-1)
- ~ 10[ ) ]

A-1=100"-1)
F -1+ 1) =100 - 1)

r+1=10
=9
=3
r=+ 3

Gersm 28 : s Al d-u s 16l A 7 520 9, 22 WA T 10 20U 9, 3 WA T 20 2 B,
2UH AY UG [Bau scn ouell 54 20l B, dl 103 W Y @l d-u dls s2dl 54

] 89l ?
s 16l WA F 5 200 © Al UAH YE g = 5. A VUG 6K BRUGHL [Bay Sl oMLl wH U
& adl aru el =2 9. i 10+ Wl Yl 2uda 2w daardl 9. el » = 10.

g rudnldl Bud S = a((:_—1)1 ) i i,

5(2'° -1
S= 2-1

5(1024-1)
1

5 x 1023
=5115
M, 1041wl Yl 20 84 T 5115 24l
GerseL 29 : Ws Als g4 T 2,42,000 4 €1l wiA HWRUH 5d O, €35 URA €1l 2l +6H UG
HRAUHL 534 €l sl Alog el © dl alZA uda ulR eiui 2ude W 24l
s Alsxin g6 T 242000 g £iL Wi MR 5G ©. A2d 3 S, = 242000 27 7 = 5. 25 H[8A il

A 264 A0UGL HUBAML 534, 1t 2l ~{lon ewtoi-d]l & dell 0y AR 7 = é— UL ua Y HEA wle
gl 23 Wacudl 9. Med 3, g WAl 9.

ran pell Bodid S = % Ui Y,
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242000 =
-3

242000 = {-55)
-3

242000 = a x (%)x(_%)

_ax 12
242000 = a X 81

_ 242000x81
a= 121
a = 162000

M, UYH U8 204 il WH T 1,62,000 9.
Gl 30 : A Al oirsui T 20,000 AV 8 2511 63 A5l AR 33 B, win Al uedl AUl 326l 8w w0l ?

(51 T 20,000 G540 Y3 9.
a = 20,000 =T,
Oivs UL 533G Y YR 8 251 Ay W 8.

r=1.08

s Ay uedl sl 254 = 20,000 x 1.08 = 21,600 = T,
w8l iy oy ugdl Hadl 4 el © 22d 1 = 6 ady.

a, r ¥ nll Budl T, = ar! 3l i,
T, = 20,000 x (1.08)*"
= 20,000 x (1.08)°
= 29386.5615
=~ 29386.56

w1, uin oy yedl wadl 81 7 29,386.56 9.
GelgR@ 31 : AvL 8 AvAl & + 1, 3k — 1, 5k + 1 delu-slellui 8. dl & eyl

wdl, k+ 1, 3k— 1, 5k + 1 Jeia-2ellHii 8.

adl f=73= A RlTR YAl

3k-1_5k+1

k+1 3k-1
Gk-1D=6Gk+ D&+ 1
Ok — 6k + 1 =52 + 6k + 1
482 - 12k =0

4k k-3)=0
k=024l k-3 =0
k=0dl k=3

Y 8 2si-l 2 af © Qdl

_100+8 _
=—Too~ =1.08

Wl k=02 Gk Dl Bud — 1 41 & B 8. Al k= 0 vieflsd . 214, k=3 8
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BewgwL 32 : A 15, x, 240, y Aeln-slelHi €l dl x Ayl [Zudl 2kl
dl, 15, x, 240, y ela-s{lui 8.

T, T, T,
adl f = Tz = T: AL ARNTR 7 Yl
T, T, 5 .
7 = 7 Qdi,
x _ 240
15~ «x
2 = 15 x 240
= 3600
= + 60
= 60 ¥{¥al — 60
; L _I,
Gurid ~ =7
240 _ Y
x 240
xy = 240 x 240
xy = 57600
8d, %A x =60 adA dl vin, x=— 60 adal dl
60y = 57600 - 60y = 57600
_ 57600 . _ 57600
= 760 .Y = 60
y =960 Sy = -960

U, x = 60 VA y = 960 A x = — 60 AU y = — 960.
Gers®@ 33 : A As Aele-Aslul T, = 80, S = 157.5 2l r = 2 Sl dl @ 2 1 2l
T 27 S -l Baudl 2084 § adll
5, = 2222 gl GuadlaL 544,
T, 12 S+l Budl Yotil s,
_ 2x80—a
157.5 = =504
157.5 = 160 — a
a =160 — 157.5
sLooa=25
8d T =ar!
80 = 2.5 x (2)!
2= 32
o= 28
ol 6l Eld Avilddl,
n-1=5
n==6
WH, a=25d0n=68.
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Gels® 34 : o Jellu-Aell Wi T, = 2™ ¢lu dl S, Audl.
wdl, T =2 9.
T,=2"=4,T,=2" =8 T,=2*= 16,.

e UYH UE g = 4 A A YRITR 7 = 8~ 2 ud. naw wr udd wawd Aaqad

4
adl n = 4.

a, r oA nell BudA s, = “g__l)l) Ui Y,

424 -1)

8,= (25
_ 406-D)
1
=4 x 15
= 60
W, §, = 60.

Gewsdt 35 : A JlR-AHE S = 2 (@ - D udl T Andl.
R el Sla 3 T

2 gt _ 11 2 pygn _
24 -1 - 4 - 1]

= Sn+1 - Sn

1

2[4 - 1) — @ - 1)]

3
=2 _1-a 4]
- %[4n+1 _ 4n]
=Zxa@-1]
T.=2@)

Gewsm 36 : A Jelu-Adll S, = 3 (3" - 1) dlu dl T, 24l

YR AR SA ST =S -
T,=5,-5,

=53 -D-53-1)

= $1Q7-1)-© -1
4
=?[26—8]
4
= 338
T,=24

w
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94 ﬂ?ﬂﬂ%—@l'&ﬂﬂi A $[Us YEL (Three consecutive terms of geometric progression)

ae(l quid oRidR-AR0HL 515 YELHL AANL 21, AYRUSIR AL 814, 27 YEL MLl 814 8. A d8lldR-
ARl ue a, ar, ar?, ar, .... A4S el Y-l Budl ldl wsiy yig 2w A weldl wrieoll seuel sadil
32dls AR AN oiAdl A, AellAl uel-l @3yl wRa Al dd sl ASA F el dRiddl W oA, el
Sedls Budl w2 i wreu 1A sald @ :

n=3H2, AA sAs uel : £, g, ar

n=442, AR sRs wEl : 4, 2, ar,

-
n=>54HR, Uy s[5 uel %, %, a, ar, ar®

Ay 2 Y ARdR-AS0AL Valld YEL ALl AU HIAt 218l UEL Yl o AlRd Av{ly,.
GerseL 37 : s opRilri-slellni el 55 uel-l AL 26 il JYRUSIR 216 & dl o il A uel Wkl

el 24 ella-Aelll AA YEL YRR HGAR £, g, ar dSA.
8d 8L YElHl ARUSR = 216

%xaxar=216

a@= 216
A a=6
2 YEIL AR = 26

%+a+ar=26

a(l+1+n=26

6)

r

6 (M) Y ¢ a

31 +r+ 7 =13r

3+3r+3r7=13r

3 -10r+3=0
r-3)@r-1)=0

r=3%udlr = L

S A A g =6 A r = 3 A4S )l A” 5[5 uel g—=2, 6, 6x3=18 614, ¥, A2 $[As uel

2,6, 18 9.

A a =62 r= 1 add d @ sBs ud %=18, 6, 6x3 =2 0.

B, A 5[5 uel 18, 6, 2 Y.
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Gewsw 38 : s Jeil-Ael- AR s[5 YelAl AW 9.5 w1 JausR 27 © dl slell-i A uel 2kl
Ul UM eiaR-ARlHi 22 UEL HRRL MUGAR £, g, ar ASA.
8a 2R YEl-l JRusIR = 27

%xaxar=27

a =27
a=3

A2 YEIHL AN = 9.5

%+a+ar=9.5

a(%+1+r)=9.5

3+3r+32=95r
37 -65r+3=0
ol 6%y 2 93 JYRUdL,
6rr-13r+6=0
@r-3)@r-2=0

YL r =

W
w|N

r=

e, Awwuda=32r=3 3

A dl ol $Ms Ul (i=2, 3, 3x3-= 2 ol
2)

i, AL 5B udl 2, 3, 2 udl.

|\

AU g=3 3N r= = 45 Al A% sRs U ,3,3x 2 =201,

3

wN|w

R, oL sBs ud 2, 3,2 .
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